
Solution to Puzzle #89 – October, 2008  "Euclidean Geometry" 
 

H A R O W P A S S E 
O Y S T E R B O O R 
R E P T L E O R L O 
N L O O T E D O U G 
E P O E T S E R B E 
T S P A R E A L L E 
G E A L U M N A E F 
A S R E S I D U A L 
N E S T S T E R S E 
S E E D S E R A T E 

 

The omitted letters (in parentheses in the list below) spell 
RIGHT TRIANGLE 

 
 

Across 
1. HA(R)ROW 
2. PASSE 
3. OYSTER 
4. BOOR 
5. REPT(I)LE 
6. ORLON 
7. LOOTED 
8. (G)OUGE 
9. POET 
10. S(H)ERBET 
11. SPARE 
12. ALLEGE 
13. ALUMNAE 
14. FAS(T) 
15. RESIDUAL 
16. NESTS 
17. TERSE 
18. S(T)EED 
19. SE(R)RATE 

Down 
1. HORNET 
2. GA(I)NSAY 
3. EL(A)PSE 
4. SEER 
5. SPOO(N) 
6. PARSE 
7. OTTO 
8. EA(G)LET 
9. DWELT 
10. TRUSS 
11. SPREE 
12. SEMITE 
13. ABODE 
14. (L)ANDER 
15. SOROR 
16. LAURA 
17. SOLUBL(E) 
18. EASTER 
19. OGEE 
20. FLEE 

 
 

Kevin Wald solved the puzzle in 30 minutes. 
 


